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O@%*) o2 £ B iREL:

I = .136,-T , & =-83= -.678, -

d= = &= O Je = -.680,-6,
Igs = 678,76, &r = L2045,
g = -.203,-5, dg=1085,=  .136,-6,
dtio - .270,-6, G g --678,6,
8413 = 4746, G188~ -203,-6.
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O") oskEE1RE

= =.256,-6, = .155,-5,
Fpe= —-198,-3, &= -.198,-3,
Gpg= 631,573, dye 23193,
= —+264,-3, F .= 1264,
 py= —0293,53, Ire= --106,-3,
da= =+ 3T T=4s dpaa= .909,-3,
G =+305,-3, &= -.292,-3,
NXAFHEITE) R Iz

dg= =+397,=5, = =.106,-3,
Spp= 390,75, o= .317,0~3,
dpu= =+384,-5, 3;,;= .294, -4,
Sys= —+236,=3, Jy 4= =.106,,-3,
7= 379,54, dpp= =+ 315,-3,
&~ 11504, é;_m: .648 -4,
e —e384,-5, = -.389,-4.

N TR
nEF BT3ROz RAEM 3. 2 s,
S 18], LoThin 40, Shanks® NEY b XounAt L T4
zdo sk LTH3 X0 I RT3,

K

B E \’-3:32;1/13' %Zl&,‘l Lothun %0 1}%%;,?/2‘8 .‘Z_H}jl
YW 4% | -836 -6 | .795 -5 | .441 -4 [ .270 -3 | .484 -2
Shanks® | .196 -4 | .187 -3 | .104 -2 u .25% =3 | .466 -2

Zoakons  FaRETHTL, ORY 282813 OKR")
d{mum&rﬁﬁfi5ﬁﬁfﬁﬁlknﬂw“&?Evz
MAERRTPART T VIR, T 950 BT ORN) ¢
T, ETec LROBKXNL v B,
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g . Boigs
T R K A EE T3 2 LT, Mg 1 RUTEN T 03

Py  FABIEALHRET, §3BEO LA RERINT -
TL3y, TRAOBEFHN SRamks o AT 0 (2L TH 3
2 E T ol o, W R o, LoMlto Tavenr A
AMEFEFIRTI vl aF ) UCHRBETHMRBER T,

XKFBILUS) GG THS. BFEXOEIR s 27 2 EW
E-213%7. | |
G T&Ra PN, oMyt abwv s, Y
LK o APIT GBIRRK ( LKABEBETAE 0 ) Lo
5w &b T,
7 H®
(EARIESTE Al 3 Kt 5K 24 &1z, X Edsy
MPEER 2328127, Z', dg=1 2 t3  4{EoR ket Y
r 4B REH AT EEF 3 XA LZANE w13
Ll L, miARERAY Y Lo BT H T BY
witr, OR) 952 ORNAFE R BT Y 34F
ET st dns ey, (o BEETE 1T T, #BRLX
Yy E Gy~ BlE T RANE SR 3, BB TL o3 IS
LROBEGTEAIRTRORETEWE b Y, ¥k 5 12 B

LTd ALremnNg v,
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110 d4 _ 2¢ p 9

= 2)= = 0, - ——
A =TT, el Amed, ym=T
Xm Yn Yn— $(Xax)
ik 2.10 0.8771074973636819 0.2967D-08
.Emi z' ' -—a
PR 0.8771074972738272 0.2878D-08
Shaebs 0.8771075016091511 0.7213D-08
4 (Xn) 0.8771074943962579
2.20 0.7726648373145431 0.21500-08
0.7726648372514301 0.2087D-08
0.7726648403653626 0.5201D-08

0.7726648351648352

i 2)

‘ 4
ﬂ-—' - ex('d'a"'x'f*‘l) _ ez-rf)’
dx ~ gaa(zez_ ¢) ° 3(0):. 1, ‘Kéé.l, 3(;()_ (_m;‘-

"ZM 6% 0.101 1.012061460169105 -0.2546D-11
. -
FepE . 1.012061460169008 -0.2643D-11
Shonkes 1.012061460187909 0.1626D-10
'3(1-,.) 1.012061460171651
0.20 1.026272992591286 -0.4549D-11
=
1.026272992591137 -0.4698D-11

1.026272992621081 0.2525D-10

1.026272992595835
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